H Assembly example

140d 191y]

l\/laln Block Series

® Assembling Manifold Blocks for Concentrated Branching

Taper Female type

Outlet port
Push-in Banjo type

Double Push-in Banjo type

3dA] 1ysieJ1s v ysng

adA1 moq|3

L 4
o

2dA] JaonpaJ peayy|ng

»




%= Main Block

B Model Designation (Example) I

- Blg{HlQH 14“018}%

Resin color
Type
P ® Air port size
Joint connecting thread size
® Type
@ Inlet port
Code Type Code Type Code Type Code Type
BA Straight LB Elbow KR |Bulkhead Reducer| ST Socket
BC Bush
@ Swiveling Outlet port
Code Type Code Type Code Type
HQ |Push-in Banjo| HB |DoublePush-inBanjo | HT Taper Banjo
@ Extension port for outlet ® Plug
Code Type Code Type Code Type
HS |Straight Banjo PG Plug CP Cap
@ Different thread size and adaptor
Code Type Code Type
BB Bush B BN | Male Screw Adaptor
@ Joint connecting thread size
Code 08 12 14 18
Size (mm) M8 X 1 M12 X1 M14 X1 M18 X 1
® Air port size
@ Fitting type
Thread size Inch O.D. Metric O.D. (mm)
Code 1/4 3/8 04 06 08 10 12 16
Size 21/4" 23/8" o4 26 o8 210 212 216
@ Thread type
Thread size | Metric thread (mm) Taper pipe thread
Code M5 M6 N1 N2 01 02 03 04
Size M5 X 0.8 M6 X 1 1/8NPT 1/4NPT R1/8 R1/4 R3/8 R1/2
@ Joint connecting thread size type
Code 08 12 14 18

Size (mm) M8 X 1 M12 X 1 M14 X1 M18 X 1

® Resin color

Code No code W
Color Standard (Black)

Light-gray




PISCO.

http://WwWw.pisco.com

Bl Model Designation of Coupling Module (Example) IS
@ Coupling module of outlet port

=,

Coupling module ®
Body color
(@ Body color
Code No code w
Color Standard (Black) Light-gray

% Joint connecting thread size of coupling module is M18x1 only
% Use Light Coupling 20 series for the coupling module plug. See page 342.

B Specifications I

Fluid medium Air

Max. operating pressure 145psi (1.0MPa)

Max. vacuum -29.5in. Hg (-100kPa)
Operating temp. range 32~ 140°F (0 ~ 60°C) (no freezing)

B Construction (MHQ) I

Tube

Guide ring (Nickel-plated brass)

Fitting Body (PBT) 1
Lock-claws (Stainless steel)

Tube end

Metallic Body (Nickel-plated brass) Elastic sleeve (NBR)

Female thread



Outlet port
(Capable of assembling many as required)

Taper Banjo

MERA OENER G

Hl How to assemble

Plug

[ ]

Inlet port
|\V/[S3 B Socket

W
Straight

Straight Banjo
['] (T T

Bracket

20 series

PISCO.

http://WwWw.pisco.com

Male screw on

inlet port side
MBC TN
]

pe

Female screw on both

connecting threads Plug
s
? Male Screw Adaptor Cap Bracket
i1 =
= ¢
} Different thread size }
a=mn F"UQ_ N
Bush B £ |I|i —
,I'

1j =i

Light Coupling

Main blocks can be connected, as long as each connecting thread size (4 sizes) is the same.

- Outlet port (4 types)

* Inlet port (5 types)

- Plug (2 types)
- Different thread size
- Female screw on both connecting threads -
- Fixing Bracket

Push-in Banjo (MHQ), Double Push-in Banjo (MHB),
Taper Banjo (MHT), Module Socket (QMC).
(Capable of assembling as many as required)

Straight (MBA), Elbow (MLB), Bush C (MBC), Socket (MST),
Bulkhead Reducer (MKR)

Plug (MPG), Cap (MCP)

Bush B (MBB)

Male Screw Adaptor(MBN)

Bracket (MZB)

M Piping example M Fiting joint on inlet port side
% Use bulkhead reducer (MKR)
% Bracket (MZB) is required
% Plug (MPG) is required
(In order to fix Plug and bracket, M6x1 screw with effective length 7mm is necessary)

Compressor

[IMPG|
.
I
|
MLB —
[MZB|
IMBA| [MBC] @. ;
Il Female screw on inlet port side Hl Male screw on inlet port side = :

EE

eel ||

% Use Elbow (MLB) or Straight (MBA)
% Plug (MPG) is required

% Use Bush C (MBC)
% Cap (MCP) is required



PISCO.

http://www.pisco.com

M Inlet port

‘W‘Eﬂp Straight

N
g )

ROHS compliant

Unit © mm

VieetE eanla Effective area| Weight . CAD
file name

MBAO0801 R1/8 | M8X1 8 8 20 16 12 24.5 "

MBA1201 R1/8 8 20 16 24.7 18

MBA1202 R1/4 M12 X1 " 85 23 17 17 23 20

MBA1203 R3/8 12 24 17.7 ’ 27

MBA1402 R1/4 " 85 23 17 19 429 23 | TFMB-001

MBA1403 R3/8 M14 X1 12 8 24 17.7 ’ 25

MBA1404 R1/2 13 25 16.8 22 56.1 46

MBA1803 R3/8 12 18.7 22 29

X d 3
MBA1804 R1/2 M18 x1 18 85 * 16.8 24 861 45
MBA12N2 | 1/4NPT |M12 X 1 11/16" 20
85 17 56.1 -
MBA14N2 | 1/4ANPT |M14 X1 " 2 19 23

. "L"is a reference value for height dimension after tightening thread.

1' Elbow

ROHS compliant

Model code

CE

Unit © mm

MLB0801 R1/8 | M8 X1 8 7 28 16 24 17 21.4 42
MLB1201 R1/8 8 29 15 25 245 48
X y
MLB1202 R1/4 M12 1 " 85 32 16 26 19 40 50
MLB1402 R1/4 " 37 19 31 42.7 80 TEB-002
MLB1403 R3/8 M14 X1 12 8.5 38 19.7 31.7 22 6 82
MLB1404 R1/2 13 39 18.8 30.8 93
MLB1803 R3/8 12 44 23.7 37.7 141
X 2
MLB1804 R1/2 M18 X 1 18 J 45 22.8 36.8 7 49 157

3. "L1" and "L2" are reference values for height dimensions after tightening thread.




IP'F‘ Main Block
1m’ Bulkhead Reducer " oD o

RoHS compliant

Unit © mm

Model code

MKR0804[]| 4 B X 1 M12x1 85 26 8 13.4 | 149 4 14 14 5.6 19
MKRO0806[ ]| 6 M14x1 28.1 149 | 17 17 17 | 115 | 29
MKR1206[]| 6 M14x1 28.1 12 109 17 4 17 17 1132 | 28
MKR1208[] 8 |Mf2X1|Mi6x1| 85 | 289 10 134 | 182 19 19 | 274 | 34
MKR1210(] | 10 M20X 1 323 16.4 | 20.7 5 22 24 | 348 | 60 |TFMB-003
MKR1408(]| 8 M16x1 289 | 12 | 114 182 4 19 19 | 277 | 33
MKR1410[] | 10 |[Mi4X1|M0x1| 85 | 323 | 10 | 164 | 20.7 5 o4 24 | 417 | 64
MKR1412[1| 12 M22x 1 349 | 12 | 174 | 233 6 27 | 547 | 78
MKR1812[]| 12 M#8X1|M2x1| 85 | 349 12 | 174 | 233 6 27 27 | 66.7 83

% .[Jin Model code / Replaced with “W" for Light-gray color.
% . Ask us for Inch size O.D. models like MKR12 1/4, MKR12 3/8

4 ’ Socket M

I
s ‘
[RoHS compliant] [ ‘ :f/ <
- — =
| o
i ”"’”
i |-
Al | <
|

=

. Ly Unit © mm
Model code |  Re M Al A2 B H Weight | CAD
(9) file name
MST0801 Rc1/8 M8 X 1 8 9 20 12 12
MST1202 Rc1/4 M12 X 1 " 9 24 17 29
MST1403 Rc3/8 M14 X 1 12 10 27 22 57 TFMB-004
MST1804 Rc1/2 M18 X 1 15 10 28 27 84
(U:=3)Bush C
Unit : mm
Model code Rc M A1l A2 B H G : 2l
(9) file name
MBC08M5 M5 X 0.8 M8 X 1 7 5 " 10 3.8
MBC12M6 M6 X 1 M12 X 1 7.5 6 1.5 14 9.6
MBC1401 Rc1/8 M14 X 1 8 8 12 17 12 TFMB-009
MBC1802 Rc1/4 M18 X 1 8 11 13 19 17




PISCO.

http://www.pisco.com

M Outlet port I

im::[a’ Push-in Banjo E

H c
[a)]
ROHS compliant g ET 1\ ] &‘
[V T P -
Moot an
i s
=
2-M oP2 O-ring
Unit © mm
Model code
MHQO0804[]| 4 10 149 | 22.2 47 | 16
X1| 6. . 25. 2 .2 .
MHQO0806[]| 6 Mg 1 ° |75 578 19 12.5 164 17 | 242 14 7 17
MHQ1206[]| 6 125 17 | 26.8 87 | 23
X 7 75 272 71202 19. 17
MHQ1208[]| 8 2 8 0 145 96 18.1 1 282 " 25
MHQ1408[]| 8 102 14.5 18.1 1 30.2 16.7 | 39 TRMB05
MHQ1410(]| 10 |M#4x1| 8 85 | 312 1232 18 | 244|202 325 22 | 195 | 42
MHQ1412[]| 12 1.7 21 234 | 35.2 211 45
MHQ1812[]| 12 wigxi 8 85 | 362 | 11.7 | 272 | 21 30 234 382 24 404 61
MHQ1816[]| 16 8 | 4111146 331 25 28 | 236 366 27 |504 N
MHQ12 1/4[]| 1/4 |M2x1| 7 75 272 | 87 202 118 196 | 17 | 268 17 — —
MHQ14 3/8[]| 3/8 10.2 16.8 20.2 | 325 — — -
Mi4X1| 8 85 | 312 232 24.4 22
MHQ14 1/2[1] 1/2 11.7 19.8 237 | 355 — —

% . [Jin Model code / Replaced with “W" for Light-gray color.

% . Ask us for other inch O.D. sizes.

GW:E]’ Double Push-in Banjo

mms
=
2:-M

Unit : mm

Model code

MHB1410] | 10 |Mt4x1| 31.2 | 102 | 232 | 176 | 23 |20.7 | 335 | 17 15 | 22 | 178 | 49
MHB1812[]| 12 |Mi8x1| 352 | 11.7 | 272 | 21 27 1234374 20 17 | 24 | 356 | 70

% .[Jin Model code / Replaced with “W" for Light-gray color.

TFMB-007

%% . Ask us for other inch O.D. sizes (MHB14 3/8)




B Outlet port I

4’ Taper Banjo Hi E
<E ‘ A3 Rc
S
o I
m| - ,_f 1 I
- | bl
g % H2
2M gP2 \o-i
g Unit © mm
Model code | Re | M | A1 | A2 | A3 | B | L1 | L2 |oP1|oP2| E | Hi | H | Veight| CAD
(mm?)| (g) |flename
MHTO8MS5 []|M5X08
2. 23.4 2 7 22
MHTO8M6 [ ]|M6 X1 M8X1 6.5 | 7.5 6 2571 82 | 192 125 15.4 3 14 ! 3
MHT0801 ] | Rel/8 8 14.5 255 14 178 | 23
MHT12M6 ] M6 X 1 6 12.5 26 12 | 97 | 28
X ) 272 | 87 | 202 I
MHT1201 ] | Re1/8 Mi2xt) 7 o 8 ’ 87 |20 145 196 275 17 14 | 12.4 | 29 |TFB-006
MHT1401 ] | Re1/8 8 10.2 14.5 295 14 116.1| 44
Mi4x1 8 8.5 31.2 23.2 24.4 22
MHT1402[] | Re1/4 11 1.7 21 34 19 1214 59
MHT1802[] | Re1/4 wexil 8 85 | 11 [362|11.7|272| 21 30 | 37 | 24 | 19 369 | 75
MHT1803[] | Rc3/8 8 12 (411146331 | 26 | 28 |365| 27 | 22 | 595 | 91
MHT12N1 [J|1/8NPT|MI2X1 7 75 7 |272) 87 |202 145 196|275 | 17 [B2aNeT 124 29 | —
% . []in Model code / Replaced with “W" for Light-gray color.
% . Ask us for other sizes.
iw Module Socket
ROHC i 025
/. Weight CAD
Model code .
— (9) file name
o amc200] \ 84 | TFLC-004
Mi18x1 _8 S 0 3. [Jin Model code / Replaced with “W" for Light-gray color.
il
L
O-rin 8\ Hex.27
18.5
41

% . Select the plug for the Coupling Module from Light Coupling 20 series. See page 342.

B Expanding outlet port NG

E

G[EIE’ Straight Banjo

A3 M2

[V |
o SRS i
o ~FT 1 7YY=
® P ea
= = RH2
< %
2-M1 oP2 |\O-ring Unit : mm
Model code | M1 | M2 | A1 | A2 | A3 | B | L1 | L2 |oP1|oP2| E | H1 | Ho |Zéid Weisht) CAD
(mm2)| (g) |flename
MHS1208 ] M8 X 1 7 8.7 125 26 12 | 84 26
X 7 | 75 272 202 . 1
mHs 121200 " ax 75 102129218 11905051 V7 47 Th20 ] 35
MHS1412 ] W21 756 102 18 316 17 |208 | 49
X 8 | 85 312 232 204 22 THB
mrs1a14C] " e 85 1.7 21 34 19 |206| 55
MHS18140) Wixi| 85| 352 117292 21 |30 37 24 18 401 71
MHS1818 ] M1B X1 8 | ° 411 146|331 25 | 28 |365 27 | 22 599 86

% .[]in Model code / Replaced with “W" for Light-gray color.



PISCO.

http://www.pisco.com

M Plug

@ Plug

ROHS compliant ,3

Unit . mm
Model code M A1 A2 B H iElel : o
(9) file name
MPGO08 M8 X 1 6 5 14 12 9
MPG12 M12 X 1 6 5 9 14 7.9
MPG14 M14 X 1 6 5 10 17 14 TFMB-008
MPG18 M18 X 1 7 6 12 19 25
o SR
M6x1 Unit © mm
Model code M A B H Weight ey
(9) file name
MCPO08 M8 X 1 6.5 20 12 17
MCP12 M12 X 1 7 22 14 22
FMB-
MCP14 M14 X 1 8 23 17 34 T 008
MCP18 M18 X 1 8 25 22 64
B Adapter
MBB Bush B
ROHS compliant ,
! |
<
{ Q i I _ 1 _v||eo @
O-ring I
- M1 ‘
Unit : mm
Model code M1 M2 A B H et . Gt
(9) file name
MBB1208 M12 X 1 M8 X 1 8 12 14 7.4
MBB1412 M14 X 1 M12 X 1 7.5 20 17 21 TFMB-009
MBB1814 M18 X 1 M14 X 1 12 12 19 "




I"F Main Block

N
‘@ Male Screw Adaptor

Unit : mm
Model code M A B H biEles : 2l
(9) file name
MBNO0808 M8 X 1 7 18 10 5.6
MBN1212 M12 X 1 8 20 14 13
MBN1414 M14 X 1 8 20 17 16 TFMB-009
MBN1818 M18 X 1 8 20 19 19
H Bracket
GIIEE]’ Bracket i)
- 7
DAl N m »u<— —
ROHS compliant - » F £ h
( 5,
~)
-l o | ol
N i J2 ~|
B2 Unit © mm
Model code | B1 B2 J E J2 y | Weight Atachable) —CAD
(9) Model | file name
MZB061B 65 325 46 12 73
e — 75 62.5 N
MZB062B 80 40 63 13 84 WG, MCP TEMB-011
MZB161B 55 65 125 325 46 12 64 VPG, MCP
MZB162B 80 ' 40 63 13 73 :
@’ Bracket 32
2-06.5
ROHS compliant
el
¢ o
: (
0|
A
Unit © mm
Model code od ULl Attachable Model : Ay
(9) file name
MZB06 7 28 MPG. MCP
MzZB12 13 26 MKR0804
MzZB14 15 26 MKR0806. MKR1206
MZB16 17 25 MKR1208. MKR1408 TFVB-010
MzZB20 21 23 MKR1210. MKR1410. MKR1810
MzB22 23 22 MKR1412. MKR1812




PISCO.

http://WWW.pisco.com

H Assembly tool I
1@@3’ Wrench set for assemblying

B o~ 3
[e =C
Gl |_X:

Unit : mm
Hex. Hex. CAD
Spanner B HA1 H2 U file name
@ 125 10 12 3.4
® 130 14 17 34 B
® 140 19 22 4
® 150 24 27 4






